Efficiency vs P,

fake+duplicates vs P,

~ 0.8 + 0.5p
o r o E
2] r 2] -
> T S SRR IR > 0.45F
2 07k 2 B
2 E s 0.4F
% 06__ """""""""""""""""""""" %) E
E = % 0.35:—
m - -
O] S ACRISIIRREE! [ PR 1 S .
F = 0.3:—
o 3 E
(O R R EERRERRRR ? 0.25F
o : ] E
0.3F ; 5 02F
E : 0.15F
O Lt :
o 0.1:—
0% 0.05E
o J—‘-G: 4 ul ETEERTIT o Gf
1:—- CORREEY -“_“-_m:-:i‘?ﬂ:‘-ﬁ-_“ 0‘"—0—:? -=>: B 1.5:— """""""
095:1 :2 . 1-‘:1 """"""
10 1 10 .?.B b, (Ge\})() 10
—=— DOM VOUUI _RUUUU0UUUT —Global CmSSw —RECO
—— DOM_V0001~R000000001__Global _mkFitOfiginal__ RECO
— DOM_V0001~R000000001_Global _mkFitNew_ RECO
—— DOM V0001 _R000000001__Global__mkFitNew05__RECO
= 0.2p - 0.5p
Q u @ E
20ABF okt > 0.45F-
(&) - E o
$0.16 = 0.4F
= C [%] E
£0.14F £0.35F
() - o F
0.12F o 0.3F
C 3 E
0.1:— -C'|-) 0.25:—
L X o
0.08F- S 0.2fF
0.06f 0.15F
0.04F 0.1
0.02F , 0.05F
.9Mo:-"---!----!----!----!----!--*-- o Of . |
S F (T 5 | | s
- £ | s ST A 15[+ b -
0.95L ; ; |15 koot
=3 -2 -1 0 1 2 3 -3 -2 -1 2 3
TP n track n

Efficiency vs ¢

iy
i e, o o |

[ fake+duplicates vs o]

s 0.1-
g F
90.09 E
S 0.08E
8 H
£0.07F
(5] "

S.0.06F-
=} .

o
o
=
o

o
Y F

Ratio

=
o
[TTI T[T T

o

|
w

|
N



	Contents
	Page 1


